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A:  (Continued from 1/4)
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B: (Contmued from 2/4)
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1. FHLENIERERID Great Vowel Shift IZ R HI B EELICOWTHB LS,

2. THEICDUWT, S350 interesting points to note & % 5 3 AA BT X0,

3. EHIL LD & Great Vowel Shift 12DV THIEF LTV 2 &Iy, AXTORES
B E 2 CHER L7p &,

4. FEDIRD Great Vowel Shift M5 Z L OEREFHBP LA I,

B: Read the following text and answer the questions below in English.
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B:  (Continued from 3/4)
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Questions:
1. Explain the difference between (2) and (3) in meaning.
2. Summarize what Sigmund Freud has proposed regarding human cognition.

3. Using the examples in the passage, explain what tacit knowledge of language is.



